
Quiz 3: mini problems 1,2,3

Question 1. a) Suppose that

Xt = εt + t, t = 1, 2, ...

where εt is a white noise sequence with zero mean and variance Eε2t = 1.

Investigate whether time series Xt is covariance stationary.

b) Suppose that
Xt = tεt, t = 1, 2, ...

where εt is a white noise sequence with zero mean and variance Eε2t = 1.

Investigate whether time series Xt is covariance stationary.

Question 2. Explain why the following sequence

ρ1 = 0.8, ρ2 = 0.5, ρ3 = ρ1 + ρ2, ρ4 = ρ1 + ρ2 + ρ3, ...

cannot be the auto-correlation function of a covariance stationary sequence.
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Question 3. Using the following EVIEWS correlogram of time series Xt,
determine whether xt is a white noise time series.
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